



## *n*-Dimensional Ostrowski Type Inequalities with Applications on Time Scales

Sabir Hussain<sup>a</sup>, Muhammad Sami Rashad<sup>a</sup>

<sup>a</sup>Department of Mathematics, University of Engineering and Technology, Lahore

**Abstract.** An *n*-dimensional Montgomery identity in the form of generalized polynomial has been derived and as a consequence we find Ostrowski type inequalities. Our established results generalized some results in [12]. Some new applications are also given.

### 1. Introduction

The classical Ostrowski inequality [11] gives estimate of the absolute deviation of a differentiable function  $f : [a, b] \rightarrow \mathbf{R}$  from its integral mean as:

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \left[ \frac{1}{4} + \left( \frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] (b-a)M, \quad (1)$$

provided that

$$M := \sup_{a \leq x \leq b} |f'(x)|.$$

Inequality (1) has triggered a huge amount of interest over the years, due to wide applications in numerical analysis, theory of special means. We discuss its recent studies over the last decade. It has been extended, generalized and refined in a number of ways [2–4, 7, 8, 12–14]. The development of the theory of time scales was initiated by Stefan Hilger [5] in his Ph. D thesis, as a theory capable of containing both difference and differential calculus, in a consistent way. Since then, many authors have studied certain integral inequalities or dynamic equations on time scales [2, 9, 10]. For more information about time scales see [1]. Motivated by the idea generated by Bin Zheng et al. [12], we establish a generalized *n*-dimensional Montgomery identity and subsequently find an Ostrowski type inequalities, unifying the continuous, discrete and quantum cases. In the whole discussion  $\mathbb{T}_i, i \in \mathbf{N}$ , is considered to be a time scale. For  $n = 1$ , the sum  $\sum_{k=1}^{n-1}$  is vacuously considered to be zero and take  $I_{\mathbb{T}} = I \cap \mathbb{T}$  for  $I \subseteq \mathbf{R}$ . This paper is organized as follows. After this Introduction in Section 2 we present our main results regarding Ostrowski type inequalities and in Section 3 we give some applications of the results in Section 2.

---

2010 *Mathematics Subject Classification.* Primary 26D15

*Keywords.* Time scales; Generalized Ostrowski type inequality; Generalized Montgomery identity.

Received: 07 January 2014; Accepted: 11 April 2014

Communicated by Predrag Stanimirović

*Email addresses:* [sabirhus@gmail.com](mailto:sabirhus@gmail.com) (Sabir Hussain), [msamirashad@gmail.com](mailto:msamirashad@gmail.com) (Muhammad Sami Rashad)

2. Main Results

Before stating the main results we come across to some notations for the presentation to be in compact form.

$$\begin{aligned} \mathfrak{A}_1(x_1, \dots, x_n) &:= \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \frac{(-1)^{r+1} \mathfrak{Q}^{(n)}}{\prod_{j=1}^r H_k(a_{m_j}, x_{m_j}, b_{m_j})} \\ &\times \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_n) \\ &\times \prod_{j=1}^r P_{m_j, k-1}(x_{m_j}, s_{m_j}) \Delta s_{m_j} \\ \mathfrak{Q}^{(n)} &:= \prod_{i=1}^n H_k(a_i, x_i, b_i); \quad H_k(a_i, x_i, b_i) = h_k(x_i, a_i) - h_k(x_i, b_i) \\ P_{u, k-1}^c(x_u, s_u) &:= \begin{cases} \frac{(s_u - a_u)^{k-1}}{(k-1)!}, & s_u \in [a_u, x_u]_{\mathbf{R}} \\ \frac{(s_u - b_u)^{k-1}}{(k-1)!}, & s_u \in (x_u, b_u]_{\mathbf{R}}; \end{cases} \quad \mathfrak{Q}_c^{(n)} := \prod_{i=1}^n \frac{(x_i - a_i)^k - (x_i - b_i)^k}{k!} \\ P_{u, k-1}^d(x_u, s_u) &:= \begin{cases} \frac{(s_u - a_u)^{(k-1)}}{(k-1)!}, & s_u \in [a_u, x_u]_{\mathbf{Z}} \\ \frac{(s_u - b_u)^{(k-1)}}{(k-1)!}, & s_u \in [x_u + 1, b_u]_{\mathbf{Z}}; \end{cases} \quad \mathfrak{M}_1 := \sup_{\substack{a_i \leq s_i \leq b_i \\ 1 \leq i \leq n}} \left| \frac{\partial^n f(s_1, \dots, s_n)}{\partial s_1 \dots \partial s_n} \right|. \\ \mathfrak{Q}_d^{(n)} &:= \prod_{i=1}^n \frac{(x_i - a_i)^{(k)} - (x_i - b_i)^{(k)}}{k!}; \quad \mathfrak{Q}_q^{(n)} := \prod_{i=1}^n \frac{(x_i - a_i)_{q_i}^k - (x_i - b_i)_{q_i}^k}{[k]!} \\ P_{u, k}^q(x_u, s_u) &:= \begin{cases} \frac{(s_u - a_u)_{q_i}^k}{[k]!}, & s_u \in [a_u, x_u/q_i]_{\mathbb{T}_i} \\ \frac{(s_u - b_u)^k}{[k]!}, & s_u \in (x_u, b_u]_{\mathbb{T}_i}; \end{cases} \end{aligned}$$

**Lemma 2.1.** Let  $a_i, b_i \in \mathbb{T}_i, x_i \in [a_i, b_i]_{\mathbb{T}_i}$  for some  $i \in \mathbb{N}$ ; let  $f \in C_{rd}(\prod_{i=1}^n [a_i, b_i]_{\mathbb{T}_i}, \mathbf{R})$  be such that  $f^{\Delta^n}$  exists. If  $h_k(\cdot, \cdot)$  is a generalized polynomial, for some  $k \in \mathbb{N}_0$ , such that:

$$P_{i, k}(x_i, s_i) = \begin{cases} h_k(s_i, a_i), & s_i \in [a_i, x_i] \\ h_k(s_i, b_i), & s_i \in (x_i, b_i], \end{cases}$$

then

$$\begin{aligned} f(x_1, \dots, x_n) \mathfrak{Q}^{(n)} - \mathfrak{A}_1(x_1, \dots, x_n) &= \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \prod_{i=1}^n P_{i, k}(x_i, s_i) \Delta s_i \\ &+ (-1)^{n+1} \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} f(\sigma(s_1), \dots, \sigma(s_n)) \prod_{i=1}^n P_{i, k-1}(x_i, s_i) \Delta s_i \end{aligned} \tag{2}$$

*Proof.* The proof is followed by induction on  $n$ .

For  $n = 1$ , relation (2) reduces to [6, lemma A]. For  $n = 2$ , we have

$$\begin{aligned} \int_{a_1}^{b_1} \int_{a_2}^{b_2} \frac{\partial^2 f(s_1, s_2)}{\Delta s_1 \Delta s_2} \prod_{i=1}^2 P_{i,k}(x_i, s_i) \Delta s_i &= \int_{a_1}^{b_1} \int_{a_2}^{x_2} h_k(s_2, a_2) \frac{\partial^2 f(s_1, s_2)}{\Delta s_1 \Delta s_2} P_{1,k}(x_1, s_1) \Delta s_2 \Delta s_1 \\ &+ \int_{a_1}^{b_1} \int_{x_2}^{b_2} h_k(s_2, b_2) \frac{\partial^2 f(s_1, s_2)}{\Delta s_1 \Delta s_2} P_{1,k}(x_1, s_1) \Delta s_2 \Delta s_1 \\ &= \prod_{i=1}^2 H_k(a_i, x_i, b_i) f(x_1, x_2) - H_k(a_2, x_2, b_2) \int_{a_1}^{b_1} P_{1,k-1}(x_1, s_1) f(\sigma(s_1), x_2) \Delta s_1 \\ &- H_k(a_1, x_1, b_1) \int_{a_2}^{b_2} P_{2,k-1}(x_2, s_2) f(x_1, \sigma(s_2)) \Delta s_2 \\ &+ \int_{a_1}^{b_1} \int_{a_2}^{b_2} f(\sigma(s_1), \sigma(s_2)) \prod_{i=1}^2 P_{i,k-1}(x_i, s_i) \Delta s_i. \end{aligned}$$

Equivalently:

$$f(x_1, x_2) \mathcal{Q}^{(2)} - \mathfrak{U}_1(x_1, x_2) = \int_{a_1}^{b_1} \int_{a_2}^{b_2} \frac{\partial^2 f(s_1, s_2)}{\Delta s_1 \Delta s_2} \prod_{i=1}^2 P_{i,k}(x_i, s_i) \Delta s_i + (-1)^3 \int_{a_1}^{b_1} \int_{a_2}^{b_2} f(\sigma(s_1), \sigma(s_2)) \prod_{i=1}^2 P_{i,k-1}(x_i, s_i) \Delta s_i$$

Suppose the statement is true for  $n = v - 1$ , that is

$$\begin{aligned} \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} \frac{\partial^{v-1} f(s_1, \dots, s_{v-1})}{\Delta s_1 \dots \Delta s_{v-1}} \prod_{i=1}^{v-1} P_{i,k}(x_i, s_i) \Delta s_i &= \mathcal{Q}^{(v-1)} f(x_1, \dots, x_{v-1}) \tag{3} \\ + \sum_{r=1}^{v-2} \sum_{1 \leq m_1 < \dots < m_r \leq v-1} \frac{(-1)^r \mathcal{Q}^{(v-1)}}{\prod_{q=1}^r H_k(a_{m_q}, x_{m_q}, b_{m_q})} \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_{v-1}) \\ \times \prod_{q=1}^r P_{m_q, k-1}(x_{m_q}, s_{m_q}) \Delta s_{m_q} + (-1)^{v-1} \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} f(\sigma(s_1), \dots, \sigma(s_{v-1})) \prod_{j=1}^{v-1} P_{j, k-1}(x_j, s_j) \Delta s_j. \end{aligned}$$

To prove the relation (2) is true for  $n = v$ , we proceed as follows

$$\begin{aligned} \int_{a_1}^{b_1} \dots \int_{a_v}^{b_v} \frac{\partial^v f(s_1, \dots, s_v)}{\Delta s_1 \dots \Delta s_v} \prod_{i=1}^v P_{i,k}(x_i, s_i) \Delta s_i \\ = \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} \left[ \int_{a_v}^{b_v} \frac{\partial^v f(s_1, \dots, s_v)}{\Delta s_1 \dots \Delta s_v} P_{v,k}(x_v, s_v) \Delta s_v \right] \prod_{i=1}^{v-1} P_{i,k}(x_i, s_i) \Delta s_i \\ = \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} \left[ \int_{a_v}^{x_v} \frac{\partial^v f(s_1, \dots, s_v)}{\Delta s_1 \dots \Delta s_v} h_k(s_v, a_v) \Delta s_v + \int_{x_v}^{b_v} \frac{\partial^v f(s_1, \dots, s_v)}{\Delta s_1 \dots \Delta s_v} h_k(s_v, b_v) \Delta s_v \right] \prod_{i=1}^{v-1} P_{i,k}(x_i, s_i) \Delta s_i \end{aligned}$$

$$\begin{aligned}
 &= H_k(a_v, x_v, b_v) \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} \frac{\partial^{v-1} f(s_1, \dots, s_{v-1}, x_v)}{\Delta s_1 \dots \Delta s_{v-1}} \prod_{i=1}^{v-1} P_{i,k}(x_i, s_i) \Delta s_i \\
 &\quad - \int_{a_v}^{b_v} P_{v,k-1}(x_v, s_v) \left\{ \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} \frac{\partial^{v-1} f(s_1, \dots, s_{v-1}, \sigma(s_v))}{\Delta s_1 \dots \Delta s_{v-1}} \prod_{i=1}^{v-1} P_{i,k}(x_i, s_i) \Delta s_i \right\} \Delta s_v \\
 &= H_k(a_v, x_v, b_v) \{ \mathfrak{Q}^{(v-1)} f(x_1, \dots, x_{v-1}, x_v) \\
 &\quad + \sum_{r=1}^{v-2} \sum_{1 \leq m_1 < \dots < m_r \leq v-1} \frac{(-1)^r \mathfrak{Q}^{(v-1)}}{\prod_{q=1}^r H_k(a_{m_q}, x_{m_q}, b_{m_q})} \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_{v-1}, x_v) \\
 &\quad \times \prod_{q=1}^r P_{m_q, k-1}(x_{m_q}, s_{m_q}) \Delta s_{m_q} + (-1)^{v-1} \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} f(\sigma(s_1), \dots, \sigma(s_{v-1}), x_v) \prod_{j=1}^{v-1} P_{j, k-1}(x_j, s_j) \Delta s_j \} \\
 &\quad - \int_{a_v}^{b_v} P_{v, k-1}(x_v, s_v) \{ \mathfrak{Q}^{(v-1)} f(x_1, \dots, x_{v-1}, \sigma(s_v)) \\
 &\quad + \sum_{r=1}^{v-2} \sum_{1 \leq m_1 < \dots < m_r \leq v-1} \frac{(-1)^r \mathfrak{Q}^{(v-1)}}{\prod_{q=1}^r H_k(a_{m_q}, x_{m_q}, b_{m_q})} \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_{v-1}, \sigma(s_v)) \\
 &\quad \times \prod_{q=1}^r P_{m_q, k-1}(x_{m_q}, s_{m_q}) \Delta s_{m_q} + (-1)^{v-1} \int_{a_1}^{b_1} \dots \int_{a_{v-1}}^{b_{v-1}} f(\sigma(s_1), \dots, \sigma(s_{v-1}), \sigma(s_v)) \prod_{j=1}^{v-1} P_{j, k-1}(x_j, s_j) \Delta s_j \}.
 \end{aligned}$$

Equivalently:

$$\begin{aligned}
 &\int_{a_1}^{b_1} \dots \int_{a_v}^{b_v} \frac{\partial^v f(s_1, \dots, s_v)}{\Delta s_1 \dots \Delta s_v} \prod_{i=1}^v P_{i,k}(x_i, s_i) \Delta s_i = \mathfrak{Q}^{(v)} f(x_1, \dots, x_v) \\
 &\quad + \sum_{r=1}^{v-1} \sum_{1 \leq m_1 < \dots < m_r \leq v} \frac{(-1)^r \mathfrak{Q}^{(v)}}{\prod_{q=1}^r H_k(a_{m_q}, x_{m_q}, b_{m_q})} \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_v) \\
 &\quad \times \prod_{q=1}^r P_{m_q, k-1}(x_{m_q}, s_{m_q}) \Delta s_{m_q} + (-1)^v \int_{a_1}^{b_1} \dots \int_{a_v}^{b_v} f(\sigma(s_1), \dots, \sigma(s_v)) \prod_{j=1}^v P_{j, k-1}(x_j, s_j) \Delta s_j,
 \end{aligned}$$

showing that our statement (2) is true for  $n = v$  and hence it is true for all  $n$ . This completes the proof of the lemma.  $\square$

The following result is the  $n$ -dimensional Ostrowski type inequality.

**Theorem 2.2.** *Let the conditions of lemma 2.1 be satisfied, then*

$$\begin{aligned}
 &\left| f(x_1, \dots, x_n) \mathfrak{Q}^{(n)} - \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \frac{(-1)^{r+1} \mathfrak{Q}^{(n)}}{\prod_{j=1}^r H_k(a_{m_j}, x_{m_j}, b_{m_j})} \right. \\
 &\quad \times \left\{ \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_n) \prod_{j=1}^r P_{m_j, k-1}(x_{m_j}, s_{m_j}) \Delta s_{m_j} \right\} \\
 &\quad \left. + (-1)^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} f(\sigma(s_1), \dots, \sigma(s_n)) \prod_{u=1}^n P_{u, k-1}(x_u, s_u) \Delta s_u \right| \\
 &\leq N \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i),
 \end{aligned} \tag{4}$$

provided that

$$N := \sup_{\substack{a_i \leq s_i \leq b_i \\ 1 \leq i \leq n}} \left| \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \right|.$$

The inequality (4) is sharp in the sense that its right hand side can not be replaced by a smaller one.

*Proof.* It is observed that

$$\int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \prod_{i=1}^n |P_{i,k}(x_i, s_i)| \Delta s_i = \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i). \tag{5}$$

Application of lemma 2.1 yields:

$$\begin{aligned} & \left| f(x_1, \dots, x_n) \Omega^{(n)} - \mathfrak{A}_1(x_1, \dots, x_n) + (-1)^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} f(\sigma(s_1), \dots, \sigma(s_n)) \prod_{u=1}^n P_{u,k-1}(x_u, s_u) \Delta s_u \right| \tag{6} \\ &= \left| \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \prod_{i=1}^n P_{i,k}(x_i, s_i) \Delta s_i \right| \\ &\leq \prod_{i=1}^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \left| \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \right| |P_{i,k}(x_i, s_i)| \Delta s_i \\ &\leq N \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i), \end{aligned}$$

which is the desired result.

For  $k = 1$ , the sharpness is proved in [2, Theorem 3.5] and for  $k > 1$ , the sharpness can be proved in a similar fashion.  $\square$

**Remark 2.3.** For  $k = 1$ , theorem 2.2 coincides with [12, Theorem 2.3]

**Theorem 2.4.** Let the conditions of theorem 2.2 be satisfied. If there exist constants  $M_1, M_2$  such that:

$$M_1 \leq \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \leq M_2,$$

then

$$\begin{aligned} & \left| f(x_1, \dots, x_n) \Omega^{(n)} - \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \frac{(-1)^{r+1} \Omega^{(n)}}{\prod_{j=1}^r H_k(a_{m_j}, x_{m_j}, b_{m_j})} \right. \tag{7} \\ & \quad \times \left\{ \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, \sigma(s_{m_1}), x_{m_1+1}, \dots, \sigma(s_{m_r}), x_{m_r+1}, \dots, x_n) \prod_{j=1}^r P_{m_j, k-1}(x_{m_j}, s_{m_j}) \Delta s_{m_j} \right\} \\ & \quad + (-1)^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} f(\sigma(s_1), \dots, \sigma(s_n)) \prod_{u=1}^n P_{u, k-1}(x_u, s_u) \Delta s_u - \frac{M_1 + M_2}{2} \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i) \\ & \leq \frac{M_2 - M_1}{2} \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i) \end{aligned}$$

*Proof.* It may be noted that:

$$\left| \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} - \frac{M_1 + M_2}{2} \right| \leq \frac{M_2 - M_1}{2}. \tag{8}$$

A combination of (5) and (8) yield:

$$\begin{aligned} & \left| \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \left( \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} - \frac{M_1 + M_2}{2} \right) \prod_{i=1}^n P_{i,k}(x_i, s_i) \Delta s_i \right| \\ &= \left| \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} \prod_{i=1}^n P_{i,k}(x_i, s_i) \Delta s_i - \frac{M_1 + M_2}{2} \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i) \right| \\ &\leq \prod_{i=1}^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} \left| \frac{\partial^n f(s_1, \dots, s_n)}{\Delta s_1 \dots \Delta s_n} - \frac{M_1 + M_2}{2} \right| P_{i,k}(x_i, s_i) \Delta s_i \\ &\leq \frac{M_2 - M_1}{2} \prod_{i=1}^n H_{k+1}(a_i, x_i, b_i). \end{aligned} \tag{9}$$

From (2) and (9) we get the desired result.  $\square$

### 3. Applications

**Corollary 3.1.** (continuous case)

Let  $\mathbb{T}_i = \mathbf{R}$ ,  $1 \leq i \leq n$ , then in this case (4) reduces to

$$\begin{aligned} & \left| f(x_1, \dots, x_n) \mathfrak{Q}_c^{(n)} - \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \prod_{i=1}^n \prod_{j=1}^r \frac{(-1)^{r+1} (x_i - a_i)^k - (x_i - b_i)^k}{(x_{m_j} - a_{m_j})^k - (x_{m_j} - b_{m_j})^k} \right. \\ & \times \left. \left\{ \int_{a_{m_1}}^{b_{m_1}} \dots \int_{a_{m_r}}^{b_{m_r}} f(x_1, \dots, x_{m_1-1}, s_{m_1}, x_{m_1+1}, \dots, s_{m_r}, x_{m_r+1}, \dots, x_n) \prod_{j=1}^r P_{m_j, k-1}^c(x_{m_j}, s_{m_j}) ds_{m_j} \right\} \right. \\ & \left. + (-1)^n \int_{a_1}^{b_1} \dots \int_{a_n}^{b_n} f(s_1, \dots, s_n) \prod_{u=1}^n P_{u, k-1}^c(x_u, s_u) ds_u \right| \\ & \leq \frac{\mathfrak{M}_1}{(k+1)!} \prod_{i=1}^n [(x_i - a_i)^{k+1} - (x_i - b_i)^{k+1}] \end{aligned}$$

**Corollary 3.2.** (discrete case)

Let  $\mathbb{T}_i = \mathbf{Z}$ ,  $1 \leq i \leq n$ , then in this case (4) reduces to

$$\begin{aligned} & \left| f(x_1, \dots, x_n) \mathfrak{Q}_d^{(n)} - \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \prod_{i=1}^n \prod_{j=1}^r \frac{(-1)^{r+1} (x_i - a_i)^{(k)} - (x_i - b_i)^{(k)}}{(x_{m_j} - a_{m_j})^{(k)} - (x_{m_j} - b_{m_j})^{(k)}} \right. \\ & \times \sum_{s_{m_1}=a_{m_1}}^{b_{m_1}-1} \dots \sum_{s_{m_r}=a_{m_r}}^{b_{m_r}-1} f(x_1, \dots, x_{m_1-1}, s_{m_1+1}, x_{m_1+1}, \dots, s_{m_r+1}, x_{m_r+1}, \dots, x_n) \prod_{j=1}^r P_{m_j, k-1}^d(x_{m_j}, s_{m_j}) s_{m_j} \\ & \left. + (-1)^n \sum_{s_1=a_1}^{b_1-1} \dots \sum_{s_n=a_n}^{b_n-1} f(s_1 + 1, \dots, s_n + 1) \prod_{u=1}^n P_{u, k-1}^d(x_u, s_u) \Delta s_u \right| \leq \frac{\mathfrak{M}_2}{(k+1)!} \prod_{i=1}^n [(x_i - a_i)^{(k+1)} - (x_i - b_i)^{(k+1)}], \end{aligned}$$

where,

$\mathfrak{M}_2$  is the maximum value of the absolute of the difference  $\Delta_n \Delta_{n-1} \dots \Delta_1 f$  over  $[a_1, b_1 - 1]_{\mathbf{Z}} \times \dots \times [a_n, b_n - 1]_{\mathbf{Z}}$

**Corollary 3.3.** (quantum case)

Let  $\mathbb{T}_i = q_i^{\mathbb{N}_0}$ ,  $1 \leq i \leq n$ , then in this case (4) reduces to

$$\begin{aligned} & \left| f(x_1, \dots, x_n) \Omega_q^{(n)} - \sum_{r=1}^{n-1} \sum_{1 \leq m_1 < \dots < m_r \leq n} \prod_{i=1}^n \prod_{j=1}^r \frac{(-1)^{r+1} [(x_i - a_i)_{q_i}^k - (x_i - b_i)_{q_i}^k]}{(x_{m_j} - a_{m_j})_{q_{m_j}}^k - (x_{m_j} - b_{m_j})_{q_{m_j}}^k} \right. \\ & \times \left\{ \prod_{i=1}^r \prod_{p=1}^r a_{m_i} (q_{m_i} - 1) \sum_{s_{m_p}=0}^{\log_{q_{m_p}}(b_{m_p}/a_{m_p}q_{m_p})} \prod_{t=1}^r F_{m_t, k-1}^{q_{m_t}}(x_{m_t}, s_{m_t}) \prod_{i=1}^r q_{m_i}^{s_{m_i}} \right. \\ & \left. \times f(x_1, \dots, x_{m_1-1}, a_{m_1} q_{m_1}^{s_{m_1}+1}, x_{m_1+1}, \dots, a_{m_r} q_{m_r}^{s_{m_r}+1}, x_{m_r+1}, \dots, x_n) \right\} \\ & \left. + (-1)^n \prod_{i=1}^n \prod_{u=1}^n a_i (q_i - 1) \sum_{s_u=0}^{\log_{q_u}(b_u/a_u q_u)} \prod_{v=1}^n q_v^{s_v} f(a_1 q_1^{s_1+1}, \dots, a_n q_n^{s_n+1}) \right| \\ & \leq \mathfrak{M}_3 \prod_{i=1}^n \frac{(x_i - a_i)_{q_i}^{k+1} - (x_i - b_i)_{q_i}^{k+1}}{[k+1]!}, \end{aligned}$$

where,

$\mathfrak{M}_3$  is the maximum value of the absolute value of  $q_n \dots q_1$ -difference  $D_{q_n \dots q_1} f(x_1, \dots, x_n)$  over  $[a_1, b_1/q_1]_{\mathbb{T}_1} \times [a_2, b_2/q_2]_{\mathbb{T}_2} \times \dots \times [a_n, b_n/q_n]_{\mathbb{T}_n}$ .

**References**

- [1] Martin Bohner and Allan Peterson, Dynamic Equations on time scales, An Introduction with applications, Birkhäuser, Boston, MA, USA, 2001.
- [2] Martin Bohner, Thomas Matthews, Ostrowski inequalities on time scales, J. Inequal. Pure Appl. Math., 9(1)(6)(2008).
- [3] Cristian Dinu, Ostrowski type inequalities on time scales, Annals of university of Craiova, Math. Comp. Sci. Ser. 34(1)(2007), 43-58.
- [4] Sabir Hussain, Muhammad Amer Latif, Mohammad Alomari, Generalized double-integral Ostrowski type inequalities on time scales, Appl. Math. Letters 24(2011), 1461-1467.
- [5] Stefan Hilger, Ein Mabkettenkalkul mit anwendung auf zentrumsmannigfaltigkeiten, Ph. D. Thesis, Universitaat Würzburg, Würzburg Germany, 1988.
- [6] Basak Karpuz, Umut Mutlu Özkan, Generalized Ostrowski's inequality on time scales, J. Inequal. Pure Appl. Math., 9(4)(2008).
- [7] Wenjun Liu, Quôc Anh Ngô, Wenbing chen, Ostrowski type inequalities on time scales for double integrals, Acta Appl. Math., 110(2010), 477-497.
- [8] Wenjun Liu, Adnan Tuna and Yong Jiang, On weighted Ostrowski type, trapezoid type, Grüss type and Ostrowski-Grüss like inequalities on time scales, Applicable Analysis, 93(3)(2014), 551-571.
- [9] Umut Mutlu Özkan, Hüseyin Yildirim, Ostrowski type inequality for double integrals on time scales, Acta Appl. Math., 110(2010), 283-288.
- [10] Umut Mutlu Özkan, Hüseyin Yildirim, Stefensen,s integral inequality on time scales, J. Inequal. Appl., (2007), Article ID 46524, 10 pages.
- [11] Alexander Ostrowski, Über die Absolutabweichung einer differentierbaren Funktion von ihren Integralmittelwert, Comment Math., Helv., 10(1938), 226-227.
- [12] Bin Zheng, Qinghua Feng, Generalized  $n$ -dimensional Ostrowski type and Grüss type inequalities on time scales, Journal of Applied Mathematics, to appear.
- [13] Bin Zheng, Some new generalized 2D-Ostrowski-Grüss type inequalities on time scales, Abstract Journal of Mathematic Sciences, 19(2)(2013), 159-172.
- [14] Qinghua Feng, Fanwei Meng, Generalized Ostrowski type inequalities for multiple points on time scales involving functions of two independent variables, J. Inequal. Appl., 2012, 2012:74, 1-11.